LOSUNG zu bsp-4868-1/VREV

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 4868

Aufgabe 1
Berechne.

a) 360 + 10 = 370
d) 766 + 30 = 796
¢) 657 + 30 = 687
i) 408 + 90 = 498

Aufgabe 2

Berechne.

a) 826 + 60 = 886
d) 573 + 20 = 593
¢) 251 + 40 = 291
i) 210 + 30 = 240

Aufgabe 3

Berechne.
a) 40 +4 = 44
¢) 60 + 2 = 62
h) 30 + 7 = 37
Aufgabe 4
Berechne.

a) 3700 + 4 = 3704

d) 3220 + 4 = 3224

g) 3600 + 5 = 3605
i) 4510 + 5 = 4515

Viel Erfolg!
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b) 815 + 50 = 865
¢) 262 4+ 10 = 272
h) 213 + 80 = 293

b) 123 + 70 = 193
¢) 532 + 60 = 592
h) 248 + 30 = 278

¢) 311 + 80 = 391
£) 537 + 60 = 597
i) 815 + 70 = 885

¢) 635 + 10 = 645
£) 658 + 20 = 678
) 725 + 30 = 755

b)60+8 =68  30+2=32  d)60+7 =067
H90+8=98 ¢ 60+4=064
D40 +3 =43  j)80+2=82
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b) 9700 + 9 = 9709
e) 2130 + 6 = 2136
h) 5180 + 5 = 5185

Seite 1

¢) 2360 + 3 = 2363
£) 3900 + 9 = 3909
) 1180 +4 = 1184
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